$$\sinh^{-1} x = \ln\left(x + \sqrt{x^2 + 1}\right)$$

$$\sinh^{-1} x = \ln\left(x + \sqrt{x^2 + 1}\right)$$
$$\frac{d}{dx}(\sinh^{-1} x) = \frac{1}{\sqrt{x^2 + 1}}$$

$$\sinh^{-1} x = \ln\left(x + \sqrt{x^2 + 1}\right)$$
$$\frac{d}{dx}(\sinh^{-1} x) = \frac{1}{\sqrt{x^2 + 1}}$$
$$\int \frac{dx}{\sqrt{x^2 + 1}} = \sinh^{-1} x + C$$

The shape of a hanging cable is called a *catenary*.



A catenary is **not** a parabola.







Physical Assumptions about the Hanging Cable

- 1. The cable is of uniform density
- 2. The cable is at equilibrium

